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	Compared
	df
	AIC
	LR	
	LRT P-val 
	Model pref.

	
A. Total instructions: ~ EH

	Model 1 & Model 2 
	17
	16
	672.35
	678.09
	7.74
	0.0054
	1, 1 chosen

	
 Proportion moves: ~ EH

	Model 1 & Model 2 
	17
	15
	238.75
	238.33
	3.58
	0.17
	none, 2 chosen

	Model 2 & Model 3
	15
	13
	238.33
	234.90
	0.58
	0.75
	none, 3 chosen

	Model 3 & Model 4
	13
	12
	234.90
	233.83
	0.92
	0.34
	none, 4 chosen

	Model 4 & Model 5
	12
	10
	233.83
	255.28
	25.47
	< 0.0001
	4, 4 chosen

	

C. Proportion turns:~ EH;~ SGV

	Model 1 & Model 2
	19
	17
	515.69
	514.63
	2.95
	0.23
	none, 2 chosen

	Model 2 & Model 3
	17
	14
	514.63
	510.37
	1.74
	0.63
	none, 3 chosen*

	

D. Proportion looks: ~ EH;~ SGV

	Model 1 & Model 2
	19
	17
	568.97
	565.89
	0.91
	0.63
	none, 2 chosen

	Model 2 & Model 3
	17
	14
	565.89
	562.62
	2.73
	0.43
	none, 3 chosen

	Model 3 & Model 5
	14
	12
	562.62
	565.69
	7.07
	0.03
	3, 3 chosen


*All remaining first-order interactions significant, so no further model comparison.
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